
I.D.:	87784891

Piese	Troliu	Tractor

Data
publicarii

06.10.23 Coduri	CPV 34913000-0

Pretul
estimativ:

3.660,00	RON	-	3.660,00	RON 	 	

Descriere: TAMBUR	TROIU	1X1518.00LEI	RULMENT	6212	2X55.00LEI	SIMERING	70X100X13	2X8.50LEI
SIMERING	45X65X12	1X7.00LEI	MEMBRANA	MARE	2X23.00LEI	MANSETA	AER	2X3.50LEI	SURUB
M8X40	16X1.50LEI	SET	GARNITURI	CILINDRU	Q100	2X8.50LEI	SURUB	M12X100	2X3.50LEI
CAMERA	FRANARE	TROLIU	1X100,00	LEI	BANDA	FRANA	TROLIU	1X270,00LEI	SILICON	V.R
1X26,00LEI	TELECOMANDA	TROLIU	1X135,00LEI	SURUB	M12X20	8X1.50LEI	SURUB
M14X40+PIUL	10X2,00LEI	DOPURI	CILINDRU	Q100	2X4,00LEI	RACORD	INCLINAT	Q100
4X17,00LEI	VALVOLINA	3L	1X50,00LEI	SPRAY	CURATARE	FRANE	3X13.00LEI	DISC	AMBREIAJ
TROLIU	2X325.00LEI	BOLT	BANDA	FRANA	1X15.00LEI	SET	INELE	TROLIU	1X250.00LEI	ROATA
LANT	Z	2X125.00LEI	PASTA	BLOCAT	SURUBURI	1X14.00LEI


